ITI Wireman 1st Year Module 3 Basic Electricity, Magnetism,
Electrostatics

(1). Which is the correct equation based on Kirchhoff's first law? | ST

fha® & Ued T & STYR IR et Gl 27

(A) li+l3=l+14+15
(B) Ii+lp+1l3=14+15
(C) li+la=l3+14+15
(D) li+1ly=1l3+14+15=0

Correct Answer : C

(2). What precaution is to be taken before connecting the different voltage rating

capacitors in series? | ﬁﬁlﬂﬁﬁéﬁ%%ﬁlﬁﬁ %@IQ‘II ff\ﬂ\l$:| | Hﬁa |
BICHIEIISEGEICHEYE

(A) Total capacitors value must be less than the lowest value of capacitor |

HURIER BT Hd AF HURIER & FAdH HH F HH g1 a1y

(B) Breakdown voltage of each capacitors must be same | TP HURIC BT
S SIS dlces! YHM 81 T8

(C) Each capacitors voltage drop must be less than its voltage | TP HURIER
P dicedl ST 3Yd diecs Y HH gIHI AT




(D) All capacitor must be same manufacturer | Hﬁ%ﬁﬁlﬂ@%ﬁﬁﬂﬁ%
HREINY

Correct Answer : C

(3). What is the specific resistance value of copper conductor? | die & Heaex

T WY TRy T A2
(A) 1.72 micro ohm/cm?

(B) 1.72 micro ohm

(C) 1.72 ohm /cm?

(D) 1.72 micro ohmmeter

Correct Answer : A

(4). Which method of magnetization is used to make commercial purpose

permanent magnets? | WW%WWWW%W
TEHIHI B! [y fAfd 1 IugT o Sran g2

(A) Single touch method | WWW

(B) Double touch method | sd Wef fafy

(C) Divided touch method | favTfora ot fafyr
(D) Induction method | URor fafdr

Correct Answer : D

(5). Which electrical quantity is inversely proportional to the current as per ohm’s

law? | 3T & O & TR I Ul faggd T Hc & HSh AU gl 82
(A) Resistance | IGEIE]
(B) Voltage | diceol




(C) Power | gfad
(D) Energy | ol

Correct Answer : A

(6). What is the unit of permeability? | aﬁa{ﬁ%ﬂﬁwﬁw%?
(A) Weber/metre

(B) No unit (mere number)

(C) Ampere turns/web

(D) Ampere turns/metre?

Correct Answer : B

(7). What is the S.I unit of specific resistance? | %fimcri%fr%rﬁ S.| W’SCEP:IT%?
(A) Ohm/cm

(B) Ohm/metre?

(C) Ohm-metre

(D) Micro ohm/cm?

Correct Answer : C

(8). What is the change in total resistance value, if additional resistor is connected

in a parallel circuit? | afe sifafived ufariy Uh JHMHIIR Uﬁ‘qz{ﬁ\?ﬁ?ﬂﬁ'ﬁ%?ﬁ,
S UfeRIY Hed T gige o1 ghe

(A) Decrease | HH

(B) Remains same | U Yl QE(‘II%
(C) Increase 2 times | ZHWW%




(D) Increase to 1.5 times | 1.5 1[I d & SId] %

Correct Answer : A

(9). How can you increase the pulling strength of an electromagnet? | GI'I'CH%_CREK[

TP P Wi B UTad by TGT Tahd g2
(A) Increase the BH curve of the material | I &1 BH WW\@

(B) Reduce the number of turns in the coil | ﬁ%ﬂﬁﬂﬂﬁﬁﬁ T HH B

(C) Reduce the current in the coil | d)T‘éQ’i HPic HH B
(D) Increase the field intensity | ?Hsrﬁ?ﬂama?{rﬁ

Correct Answer : D

(10). Which factor depends on the permeability of the material? | Or?l-l [ hRb

AT &1 IR IR AR e 82

(A) Length | diaTs

(B) Flux density | T T T

(C) Field intensity | &3 T gl

(D) Magneto motive force | Flc! Aifed BRI

Correct Answer : B

(11). What is the use of wheatstone's bridge? | OGC‘IC g fool WWW%?

(A) Measure current | FHYc AU

(B) Measure voltage | diceo ATY
(C) Tofind the power | Wﬁ[@ﬁﬁ%ﬁﬂ!
(D) To find the unknown resistance value | W:Hmﬂ O J7d B & Tl




Correct Answer : D

(12). What is the metal composition of Perm alloy? | qﬁmﬁ UI@W:ITHZIT

87

(A) Iron and nickel | Q1\I'6I 3R Add

(B) lron and copper | Q'i\lsl GﬁTdiGII

(C) lron and aluminium | ?’h@T GﬁTQ?I&Iﬁ'Gﬂ
(D) Iron and chromium | ?‘h@TGﬁTﬁﬁl’qﬂ

Correct Answer : A

(13). What is the total resistance (RT) if R4, Rz, R3 are connected in series? | ¢l
OfeRIY (RT) FTENT, T Ry, Ry, R; YTATH IS GU B2

(A) RT=R1+R2+R3

1. 3. 3
+—+
Ri Ry Ry

R, =
(B)
(C) RT = R1 Rz R3
Ry=—
K+ R+ R

(D)

Correct Answer : A

(14). What is the reading of galvanometer in Wheatstone bridge at balanced

stage? | Tferd R H ek H f9s & TedHieR o1 ST grft
(A) High deflection | 3 fa&u=
(B) Low deflection | &Y faauT




(C) Null deflection | T fa&d=
(D) Vibrates | U

Correct Answer : C

(15). What is formula to calculate electric power (P)? | ﬁd"ﬂﬁw (P) CARIYGH]
B B P T g2

P=I°xR
R
() \Y

(C) P=IR

(A)

(D) P=I/V

Correct Answer : A

(16). Which formula is used to calculate the value of unknown resistance (Rx) in
Wheatstone bridge? | I &I A e forel H 3=1Td WieRIY (Rx) & od Bt
O] R & 7Y S¥HTe o ST 82

H




P
Ry =—xS
X Q
(A)
Ry :gxﬁ
(B)
P
(©) S
F.'l
(D) 2

Correct Answer : B

(17). Which property of a magnet is illustrated? | ﬁ@‘lﬂ@%ﬁﬁlﬁﬁ
CRIRPIEE

S

o5

2
) &/

(A) Induction property | W‘IUT

(B) Saturation property | @W‘IUT

(C) Directive property | W’IUT

(D) Poles-existing property | ﬁwq@:&ﬁﬂw

Correct Answer : C



(18). Which rule is used to find the direction of the self induced emf in a coil? |

$Hed I W-URA STHUE &1 G0 &1 a1 e o fort food T &1 Iuai fan
ST 8?

(A) Clock rule | FAlD A

(B) Lenz'slaw | RSN

(C) Ampere rule | QTm'CRFﬁJ

(D) Corkscrew rule | cblc%%op ]

Correct Answer : B

(19). Which rule is used to find the magnetic polarity of solenoid? | ﬁ?wﬁvm
TS S P DT YadT oI Wioi & e TaIT fhar Srar g2

(A) Lenz's law | T=oT aT

(B) Right hand palm rule | Glfg+ 814 &1 gydl FaH

(C) Fleming left hand rule | TRITHTT &1 €T §1Y &1 fAgw
(D) Fleming right hand rule | TRIfERT &1 ST €T BT fAgH

Correct Answer : B

(20). What is the unit of reluctance? | \{(j,d-gz‘_r{-l &t 5or>|£am€%ﬂ% ?
(A) Ampere turns | UMRRR 9 Sidl g

(B) Ampere turns/weber | QTEn'CITE:f/a_@R
(C) Weber | JeR

(D) Ampere | QTa'CN

Correct Answer : B



(21). Which is dia magnetic substance? | U%anﬁﬁqm%?
(A) Iron and nickel | Q’I\IE;I GﬁT BEAY

(B) Aluminium IW

(C) Graphite | ‘EI'CFE_C'

(D) Copper | dIaT

Correct Answer : C

(22). Which type of capacitor is known as polarised capacitor? | PO UPR &

PUTYR ] UIIREHS HURIR BEd §

(A) Mica capacitor | HTST BURICI

(B) Paper capacitor | UUR URIeY

(C) Ceramic capacitor | RRFA® HUREY

(D) Electrolytic capacitor | TaideI@Ige dhURTeR

Correct Answer : D

(23). Which material has high dielectric constant? | mﬂmsﬁwaégﬁa‘
gafaed HieC §?

(A) Air | 9]

(B) Paper | Tl

(C) Ceramic | Rfie
(D) Polyester | tm%‘lw

Correct Answer : C




(24). What is the formula for equivalent resistance (RT) if three resistors, R4, R,
and R3 are connected in parallel? | WWHWWW%(Rﬁ)Hﬁ?ﬂ:{
GfeRIYUSD, Ry, 3R, 3R 3R ; IS T e YHMIR H?

(A) RT=R1+R2+R3

(B) 1/RT=1/R1+1/R2+1/R3
(C) 1/RT=R;+R,+R3
(D) RT=1/R;+R,+R3

Correct Answer : B

(25). Which material have negative temperature coefficient? | I At IrEf BT

e qruH O 82
(A) Carbon | PTa

(B) Tungsten | XA
(C) Nichrome | g
(D) Manganin | BT

Correct Answer : A




